Ubungen: Ortskurven S. 268 Nr.7
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R:=100-0 L := 50-mH f .= 0-Hz,1-Hz.. 10-kHz

Z(f) =R +j-2-nfL Z(0-Hz) = 100Q Z(1-GHz) = 100 + 3.142j x 10%0

200

150

Im(Z(f)) 100

Q
50
0 50 100 150 200
Re(Z(f))
Q

u

I(f) = - L
Z(f) I(3-Hz) = 1 - 9.424jx 10 “A

I(0-Hz) = 1A 1(10-Hz) = 0.999 — 0.031j A

13

I(1-GHz) = 1.013 x 10 >~ 3.183j x 10" ' A 10-Hz) = 0.91 — 0.286j A

mS=10 °-



0.2

Im(I(f)) _

A N~ S

N
o

-0.6
-0.8
Re(1(f))
. A
() =—-—=
Z(f)
( 5 /o 15
’ \ /
-4
Im(Y (1)) ~—_ 7
mS
_ -6
-8
-10
Re(Y(f))
mS
c)
R = 250-Q C:= 10-uF L := 50-mH U:= 100-V
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